B Pipe Frames : FRAMES !

PF28-4000

PF28-5

7N Order Example
PF28-1-4000

™= Delivery = 1-2 Days

@@tpcgroup @) +66 (0)97-139-0977 WWW.THEPEARLCORP.COM

28

28

28

50

PF28-2

S 74 i,
v
.9954
b
20
PF28-4 19
T
e‘?j‘ B o
e L
[y K -+
B (bqf \\/
Ik'\.
e il
33

PF28-6




B Pipe Frames : CONNECTORS

PFC-1

435

33

(

;

B

.|

py Heragon Socket Head
Cap Sorow Manz22
44 23
P
1 NE
“A )

; Hexagor High Mut ME

PFC-3

56
23

%

23
T

axacian Sacket Head
Ciapr Froom MEa22

33

PFC-5

33

=l

Hzxaqon Sccket Heac
Uep Sorsw Me

axagon H ah Bol: b

78 order Example
PFC-1

™ Delivery = 1-2 Days

PFC-2

PFC-4

PFC-6

(

(

44

S

Hexagni Sockst Head
Cap Screw MBx18

186

=)

(

S

[ve]
]

D

Hexagzn Higk Mul ME

G4

20

=T
“w
| P-MEx17
Set Sorew
[l
o
b
e
44

28
i

o

| lsxag
e

on Sockell lazd
Hiraw bFc1d

Hextagon Sodket Head
o= High Bo

Hexagon High Bolt M8x18

= .
\ Hexagon High Nut M8

O @tpcgroup @+66 (0) 97-139-0977 WWW.THEPEARLCORP.COM




B Pipe Frames : CONNECTORS

PFC-9 PFC-10

; V7 - I Ay
> — g 2xHexagon Sockot Head
L i pts Cap High Bel: MEx18
f 7 y e A 128
| 100
L w»
o =
) KL o 1% dh
1 bt D famrs Vi \\—— L:ﬁj
I | A

2-Haxagon High Mul ME

PFC-11 PFc_lz Hoxagon Hign Mut ME
&

I

PFC'13 PFC' 14 435

LEET

gorl Eecd, Hoad
Cap Serew Mt 16

g
r;_\
\\_
=31 (o]
==} =t
//
T
Yl A
26
far e o
82
@
2g
o3
=]
=g
Fa
28
N
g
o
(=]
CO
L 28 |

S
8
/'_'_""'h.\

P
[T O
S

2

a7
7o

Haxagon Nut; thin type
Set Screw MBx12

60
19

= ]
- 4

i
k4
et

PFC-15 PFC-16

MJ.

® y \
| S

30
)

7 order Example
PFC-12

= Delivery =1-2 Days

O @tpcgroup @ +66(0)97-139-0977 WWW.THEPEARLCORP.COM




B Pipe Frames : FOOTING !

PFF- 1 PFF-Z Hexagon Sockel Head
75 Cap Sorew Maxas
» z‘-;t‘lfn:rlsunk Soram Flat Washer M&
| ok
d ETI 69.2
S Ey
e Irxaien Hiah Hut R N . =
3 T p——— I% ™
. Sl Nl A
T i
[ ] ) I

PFF-3 \/‘/“ PFF-4

] / ( )
M 12 Nut o
|

M8 Nut

I
I

51

CASPAD-D25-M12 CBR-3-M12B

I

%

B
preb=
=
&

APC-M12-100L FRBEN9N19 1E9N1

P

=

7N Order Example
PFF-1

A

= Delivery = 1-2 Days

@ @tpcgroup (@ +66 (0)97-139-0977 WWW.THEPEARLCORP.COM




B Pipe Frames : ACCESSORY !

13.4
PFA-1 PFA-2
28
- ‘
& == G322 | w
i & | |
PFA-3 i PFA-4 50

:

- | =1 o il

= %\M hd ?
Frame Guard L//—\J 12-4.5 Cut

18mm. Cut Part

Frame Guard
18mm. Cul Part

325

2ns5
—
3

L

( M uy T
g ﬁ T (e
2 | N i
42 ( (
PFA-5 28
238
il
RN mmt
5 ¥ 4
5.3 Cut './\Lv,
f;;:‘;';?a:“ ars Frame Guard

I i ,o_'r——‘._'__ ‘? I

When using Outer Type Connector

N Order Example
PFA-1

™= Delivery = 1-2 Days

@ @tpcgroup (@ +66 (0)97-139-0977 WWW.THEPEARLCORP.COM




